2
DBSOI |

FOR SERVICE
REFERENCE ONLY

19 8 |WASHER318.500.040 90706101 WASHER, .040 X .318 ID X .500 0D
18 2 |DB250 99260452 SUPPORT, BEAM, CAST TOP BOX, DL2
17 | TWA094 80460012 SUPPORT, ASSY PAN BEARING V4
16 2 DB306 80071851 STUD, PANEL RETAINER, DL2
15 8 [SCREWMBAC30SS 91100830 SCREW, M8 SOCKET 30 SS
14 4 |SCREWMBACI6SSP 91100816 SCREW, M8 SOCKET 16 SS W/PATCH
13 4 |SCREWM6ACI16SSP 91100616 SCREW, M6 SOCKET 16 SS W/PATCH
12 4 |SCREWM6ACI12SSP 91100612 SCREW, M6 SOCKET 12 SS W/PATCH
I 4 |SCREWMSACI6BZ 91000516 SCREW, M5 SOCKET CAP 16 BZ SEMS
10 2 SCREWM4AB08BZP 91010408 SCREW, M4 BUTTON 08 BZ W/PATCH
9 4 |SCREW6-19PPB0380BZ 90709117 SCREW, 6-19 PHIL PAN PLASTITE 3/8 BZ
8 16 |NUT_MB_LOCK_NY 90703105 NUT,NYLOC M8-1.25
1 | NUTM6KEP 91201206 NUT, M6 KEPS
6 4 |sw2l4 90720005 HANDLE, SMALL W/ LOGO
5 | BUSHINGS500SNAP 90410102 GROMMET, SNAP BUSHING .50 ID
) 4 |RUBBER_FOOT 90410089 FOOT, RUBBER STC/NH LONG
3 2 DB20 | 99220033 COVER, SIDE, TOP BOX DL2
2 | DBA0OS 80071852 CHASSIS ASSY, TOP BOX DL2
| 2 |BUSHING-HEYCO-2140 90410030 BUSHING, SNAP 1" F100
ITEM NO.| QTY FILENAME PART NO DESCRIPTION
BILL OF MATERIALS
UNLESS OTHERWISE SPECIF IE [RELEASE DATE: CE. High €nd 2105 GRACT FARMS LANE
DIMENS IONAL TOLERANCES: | ENG: oA 9 ATV TEXKS 19750
0 PLACE DECIMAL = £0-38 IME: FAX (512) 832-4128  LIGHTWAVE
| PLACE DECIMAL = £0.25 -
2 PUACE DECIMALS =202 [MFG: DRV svsvsme® hifp:/inwn.highend.con RESEARCHs
ANGLES = +0.5 DESCRIPTION
FOR PRINTED PARTS REFeR 1o |CHASSIS ASM. TOP BOX DLz
ENG. SPEC. MANUAL Wi-0592 [wrerial ATIRE
R CHARTED NA
PROPRIETARY NOTICE: MIN. RADII INTERPRET DIMENSIONS PER S| e ORAWING NO. REV.
THIS DOCUMENT CONTAINS CONFIDENTIAL AND PROPRIETARY INFORMATION OF HIGH END SYSTENS INC , (ALSO DBA LIGHTWAVE RESEARCH) AND IS GIVEN TO THE RECEIVER IN CONFIDENCE -
THE RECEIVER ACCEPTS AND AGREES THAT, EXCEPT AS AUTHORIZED BY HIGH END SYSTENS, THE RECEIVER WILL NOT PERMIT THE USE OF THC DOCUMINT OR ANY COPY THERCOF OF THE TFHL"‘JKNNEESSSS ?SP\ARED YA‘N‘%LEMPF;(?JQEAWON METRIC ‘ N T E R N A L D B S O ‘ ‘
NFORMATION THEREIN, WILL NOT COPY OF PERWIT COPYING THE DOCUMENT WILL OT DISCLOSE 10 OTHERS EITHER THE DOCUNENT OR THE INFORWATION THERE N, AND WILL UPON CONPLETION A1l
OF THE NEED T0 RETAIN THE DOCINENT, OR UPON DENAND, RETURN THE DOCUNENT VITHOUT RETAINING ANY OF THE INFORNATION CONTAINED THEREIN IN_ANY FORM VHATSOEVER VOLUME DIMENSIONS ARE IN MILLIMETERS DO NOT SCALE | SCALE: 0.350 [SHEET: 1 OF 1
T 3 20 0 k] L] T 1] [ [E] [ m 1] 9 i} T ® H T K}




